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ATM dg>lg e Ly UNI jlusYl o ued atm uni-version oVl lusl o9

? config-if)# atm uni-version)3640
UNI Version 3.0 3.0
UNI Version 3.1 3.1
UNI Version 4.0 4.0
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[#Switch (config)# interface atm card/subcard/port [.vpt
Switch(config-if)# atm uni [side {network | user}] [type {private | public}][version {3.0 [ 3.1
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.1lwld: ILMI(ATMO/0/0): Querying peer device type
lwld: ILMI:peerDeviceTypeQuery not completed
lwld: ILMI:peerPortTypeQuery not completed

lwld: ILMI(ATMO0/0/0): From Restarting To WaitDevAndPort

<ilmi_query_peerdevAndportType>

lwld: ILMI(ATMO0/0/0):Sending out Request 6551

lwld: ILMI(ATMO0/0/0) :Sending out Request 6552

An ATM interface running ILMI sends several requests 1in succession !--- to poll different ---!
object IDs. Request 6552 is for the peer UNI type. lwld: SNMP: Response, reqgid 6551, errstat O,
erridx 0 atmfAtmLayerEntry.10.0 = 1 1lwld: ILMI(ATMO/0/0):Response received for request 6551
lwld: SNMP: Response, regid 6552, errstat 0, erridx 0 atmfAtmLayerEntry.8.0 = 2 1lwld:
ILMI(ATMO/0/0) :Response received for request 6552 !--- The response 1is reported by debug snmp
.packet

lwld: ILMI(ATMO0/0/0): Peer Device Type is 1
lwld: The peer UNI Type on (ATM0O/0/0) is 2
.The response is reported by debug atm ilmi ---!

lwld: ILMI(ATMO/0/0): From WaitDevAndPort To DeviceAndPortComplete
<ilmi_find_porttype>

paiwall ol aSeidl - sl day I

uub 4m9 ).J.\kaJ J...Ia.JI ATMFatmLayerDeviceType U‘le e ATM UI_)LP .Alg.n..nw JLMI J ,_,jLQLJ' L)’.SS"” cl.u|
il ol 6xal ol I (2) 2 dodl] pwiis sl iz I (1) 1 dmadl i .UNI bl

LS1010 Js=o _lc debug atm ilmig debug snmp packet olsl 0 obsl 21,3V clis] p
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.1lwld: ILMI(ATMO/0/0): Querying peer device type

lwld: ILMI:peerDeviceTypeQuery not completed

lwld: ILMI:peerPortTypeQuery not completed

lwld: ILMI(ATMO/0/0): From Restarting To WaitDevAndPort
<ilmi_qguery_peerdevAndportType>

lwld: ILMI(ATMO0/0/0) :Sending out Request 6551



Request 6551 is for the peer UNI type. lwld: ILMI(ATMO0/0/0):Sending out Request 6552 1wld: ---!
SNMP: Response, reqid 6551, errstat 0, erridx 0 atmfAtmLayerEntry.10.0 = 1 !--- The response 1s
.reported by debug snmp packet

lwld: ILMI(ATMO/0/0) :Response received for request 6551
lwld: SNMP: Response, regid 6552, errstat 0, erridx 0
atmfAtmLayerEntry.8.0 = 2
lwld: ILMI(ATMO/0/0) :Response received for request 6552
lwld: ILMI(ATMO0/0/0): Peer Device Type is 1
.The response 1is reported by debug atm ilmi ---/

lwld: The peer UNI Type on (ATM0O/0/0) is 2
lwld: ILMI(ATMO/0/0): From WaitDevAndPort To DeviceAndPortComplete
<ilmi_find_porttype>

23all 138 blail pi .l paiwall go ddnail Catalyst ATM ola>g9 Cisco azge wle>ly Logles 6sle
'PA-A3 ATM idio ¢ ,lgo e

show interface atm 3/0<7200-1
ATM3/0 is up, line protocol is up
Hardware is ENHANCED ATM PA
Internet address is 1.1.1.1/8
,MTU 4470 bytes, sub MTU 4470, BW 149760 Kbit, DLY 80 usec
reliability 255/255, txload 1/255, rxload 1/255
NSAP address: 47.00918100000000902B03E001.1111111117112121.11
Encapsulation ATM, loopback not set
Keepalive not supported
Encapsulation(s): AALS5
maximum active VCs, 2 current VCCs 4096
VC idle disconnect time: 300 seconds
Signaling vc = 1, vpi = 0, vei = 5
UNI Version = 4.0, Link Side = user
.Output suppressed ---!
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